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Q.1A (20 points)    Choose the correct answer 

1)  Solve the equation 
1

sin
2

x     on the interval 0 360x     

A)  30  , 150x    

B)  210  , 330x   

C)  60  , 120x   

D)  240  , 330x   

 

      2)   The exact value of 1 4
sin sin

3

  
 

 
 

             A)  
2

3


                           

             B)  
3


                    

             C)  
3


                    

             D)   
4

3


               

 

 

      3)  cos      

            A) cos   

            B) sin  

            C) tan  

            D) cos  

      4)  The expression sin cos sin cos
6 3 3 6

          
       

       
= 

             A)  cos
2


  

             B)   sin
18


                  

             C)   sin
2


                

             D)  sin
6


     

      5)  Find the range for the function:  2cos 3 4y x      

             A)   2,6    

             B)   2,2                    

             C)   3,3                 

             D)   3,5     

 

You must write the correct answer to each question in the box below 

 

 

 

 

 
 

 

Question 1 2 3 4 5 
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      6)   Solve the following system: 
4 4

6 3 24

y x

x y

 


 
        

 A)   0, 4      

 B)   1,0       

 C)   1, 8                    

             D)   2,4   

 

      7)  Which one the following is a correct identity? 

            A) cot sec sin    

            B) cot sec sec    

            C) cot sec csc    

            D) cot sec tan    

      8)  The following system of two linear equations: 
2 3 4

4 6 10

x y

x y

 


 
   has: 

             A)  one solution         

             B)  two solutions       

             C)  infinitely many solutions         

             D)  no solution  

 

      9)  The expression cos80 cos40 sin80 sin 40     is equivalent to: 

            A) sin120  

            B) sin50  

            C) cos120  

            D) cos80  

    10)  Which of the following is the graph of the solution set of the system of inequalities? 
29

3

y x

y x

  


 
 

                   (The solution set is the shaded region) 

 A)  

    

                                         B)  

 

  C)   

 

                                        D) 
 

You must write the correct answer to each question in the box below 
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Q.2 (6 points):  Given that  
5

csc
2

  , where  is in Quadrant II, and cot 3   , where    is in 

Quadrant IV,  find the value of  sin   . 

 

 

 

 

 

 

 

 

 

Q.3 (5 points):  Verify the trigonometric identity tan cot sec csc     .  

 

 

 

 

 

 

 

 

 

 

 

Q.4 (8 points):   Determine the amplitude, period and phase shift of the following function. Then graph 

one period of the function:  
1

sin 2
2

y x   .
 

 

 

 

 

 

 

 

 

 

Q.5 (5 points):   Use a sketch to find the exact value of the function: 
1 2

cos tan ( )
3

 
 

 
.      

Show all your steps 
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Q.6 (7 points):  Solve the equation 22sin 3cos 0x x  on the interval 0 360x    . 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Q.7 (7 points):  Solve the equation    4sin 3 2 2sin 3x x   on the interval  0 360x    . 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Q.8 (5 points):  Solve the following system: 

1

6 2 3

3 2

x y

x y


 


  

                and identify, if there is one solution, 

no solution or infinitely many solution. Express your solution in the form of solution set. 
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Q.9 (9 points):   Solve the system of linear equations: 

4

2

4 2 5

x y z

x y z

x y z

   


   
   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Q.10 (8 points):   Graph the solution set of the following system of inequalities. Show all your work 

           

 
22 1 16

2

0

x y

x y

y

   


 
 

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Q.1B (20 points)    Choose the correct answer 

    1)  Which of the following is the graph of the solution set of the system of inequalities? 
29

3

y x

y x

  


 
 

                   (The solution set is the shaded region) 

 A)  
    

                                         B)     
 

 C)   
 

                                        D) 
 

 

      2)  Find the range for the function:  2cos 3 4y x      

             A)   3,5    

             B)   3,3                    

             C)   2,6                 

             D)   2,2     

      3)  The expression cos80 cos40 sin80 sin 40    is equivalent to: 

            A) cos120  

            B) cos80  

            C) sin120  

            D) sin50  

      4)   Solve the following system: 
4 4

6 3 24

y x

x y

 


 

        

 A)   1, 8       

 B)   0, 4       

 C)   2,4                  

             D)   1,0  

      5)  Which one the following is a correct identity? 

            A) cot sec csc    

            B) cot sec tan    

            C) cot sec sin    

            D) cot sec sec    

 

You must write the correct answer to each question in the box below 
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      6)   The exact value of 1 4
sin sin

3

  
 

 
 

             A)   
3


                          

             B)   
4

3


                   

             C)  
2

3


                    

             D)   
3


            

 

      7)  The expression sin cos sin cos
6 3 3 6

          
       

       
= 

             A)  sin
18


 

             B)   cos
2


                  

             C)   sin
6


                 

             D)  sin
2


    

 

      8)  The following system of two linear equations: 
2 3 4

4 6 10

x y

x y

 


 
   has: 

             A)  one solution         

             B)  no solution  

             C)  infinitely many solutions         

             D)  two solutions       

 

     

      9)  cos      

            A) tan   

            B) cos  

            C) sin  

            D) cos  

 

    10)  Solve the equation 
1

sin
2

x     on the interval 0 360x     

A)  60  , 120x   

B)  210  , 330x   

C)  30  , 150x   

D)  240  , 330x   

You must write the correct answer to each question in the box below 

 

 

 

 

 

 

Question 6 7 8 9 10 

Answer      


